Tou

el

® o0

@ 2




32 + V22
@ V32 -

@

O VE-VE

(=2)?

@ 25 + (- V2)?

™ ny
[ m
217ﬂ_A|O
Lo
NP e N
Il N
Il [l I+ N
P R
I I
M SN
| 4@@
o (X +
&l 1 ]
L0
[a\} ~—
o
_+\rw_+
10O
ERSBEy
|




3.

3<x<ddd, /B-x2- /(x-4)2

@ 2x-3

® 2x-9

3-x<0°ZLx-4<00°]B2

(

=
e

A)=-B-x)+(x-4)=2x-7




4. VIT¥x 9 7ol AA57t HES ok AP A Aes x 7

@ 4 @8 ® 10 @ 12 ® 19

V25 o|B2 x = § o[t}




5. VID—x o ol AA5T} SRS She AP &S Aelg x?

@1 @4 @7 @ 10 ® 15

V36 o]|B2 x = 40|t}




@ —(-V3)?
® V45

® V20

O 7= V49
@ -3
® V20
@ 6 = V36
®+V45




7. 2<V2x <4 & WSS A 19 ASE?

O3 @4/  O5A @67H ® 7

2< Vox<4E4<2x<16°|th kA 2 < x <8 0|ER
A4 x =2, 3, 4, 5, 6, T2 670t}




® -Va2=a

=da

@) (- vay?

® (V) =~
@

® -\/(-a)?=a

(—a)? =-a

a__

__ __ ﬁﬁ

@@@@




thS 104 AEFH ¢] Yol71 8 & ul, AH

9

@ 8 @) V8 ® V2
@ V3 ® 5




O -Vi=-2
@ £vV11

® V25=5

@ ++100 = +10

®o0




ol
S

J

@ 5 ® 10 @vis  © 2

O 2

O +V2
@ £vV5

® +v10

@ +2

® +2+5




12, a>0 D, oS F 274 2L ALY

© Va? =a @ (-va)*=a
@ (Va)*=a ® -Va2=-a

~&B

a>0 24 o,

O Va2 =la|=a
@(—W—a

®-/(- ~Va2 = —|a| =
@(\/5)2—61

® Va2 =—la| = -a




13. VI69 + /(=5)% — /(=3)T & AlAta}m?

@9 @15 @18 @21  ©7

V169 + /(-5)2 - /(-3)¥=13+5-9=9




14. a<09Q o, Va2 - \/(—2a)? & 7tHs] spd?

@O @ —6a ® 6a @ —4a ® 4a

Vid? - \/(=2a)% = \/(20)? - /(-2a)?
—2a — (—2a)
—2a+2a=0




15.

VEGx 7h AHA%7L 517] 918 A 29 4

2> 9
'T'E

® 2 @ 4 ®7 @®)14 ® 28
56x = 23 x 7x x OB & 7} ZHe A4 v = 14




16. Ws 3 VI3 +x 7t 47t S5 She A x 7t obd A2

® 3 @ 12 ® 23 @ 36 @50

® VI3+50 = V63




17. o= 2710914 VI8 —x 7k A57F 5| st A4 x o] frez &7

] 4y
ke AL - NEHY

H7]

@ 2 © 9 ® 12 ® 15 © 16

® 18
D 6,6 e @ 6,66 ® 0.6 6
®e.e o ®© 06

B

VI8 —x 7} A7t H 2 W 18 — x 7 AlF457t Hofof Fiet
© 18 - 12 = 6 °| L2 AF57} ofy .
© 18 - 15 = 3 °| 2 AlF7} o,
® 18 - 16 = 2 °| L2 AlF47} op .




@ V11

5 3

@ 2V3 = V12
@3=19

\7 7
® 3 -1
@ V11

® 3

\/77< \/§<3< V11 <23




Vi<3=+9olER
VOa=s - o= iy
|vi-d|-p- i
—-(V7-3) - (3- V7
=-VI+3-3+V7=0




20.

O 24 @ 20 ® 16 @ 12 ®)8

3<x<5h

32 < (Yx)2<52olBR2

9<x<25

uk2kA] x = 10, 11, 12, 13, 14, 15, 16, 17, 18, 19, 20, 21, 22, 23,
24 o]t}




® ++v19cm

@) vigem

19 cm

O -

® 19cm

@ -19cm

19 9] Fof AE2 ]

I
o
N
T
. B
T
0
o oI
lmm.o
[l =~
o X
5= E
o]
oz B
0 TS
kX




22. the F ABLL Vel v, 258 A8 ghotbE HE Ae
2 71712
1 . 4
4, —,04, —
12,04, 6 0 95

ok @24 @3 @ 6

B

12 o Alu
0.4 o] A&

]'O
= oA

T

T D W | §|
o
=~

I
rd
+

0.4 2] A

il
rd
W

I
rd
H

4
= o




23. a<0% 1 g F 2L AL

-/(-a)?2 =-a @ -V-d?2=-a
® -Va%=-a @ (—a)? = -a
® Va2 =a

a<0% 3%, Va2 = —a °|tt.
@O-+/(-a)2=-Va? = ~(-a) =a

are) ABES EASA 2
®a L
® -a




3a

@ —(-V3a)? =

@ -

9a

@) (voay?

4a2% = —4a

(—5a)? = -ba

®

—3a

—2a

a
Il I

nﬁDQ

00 @6




2a + a — (—5b) = 3a + 5b




26.

=A% g b o) Hiote] a> 0,6 <0 Y T, VaZ - |b| +
4

ks st
D 0 @2a ® 2b
@ a—b @ 2a 2b

(a-b)? <

a>0°E2 Va2 =a

a>0,b<0°B2 \/(a-b)2=a-b

L(E)=a+b+a-b=2a




27. o @ol x>0, T2+ /(xt D)2 & 7l ohR?

@ 3 @2x+5 ® x+5
@ 2x ® x-3
x>09°]|B=2

Via+1)2+ /(x+4)?2 = (x+1)+ (x+4)
=2x+5




28. /(V3-2) - \/(2- V3) & Axrstm?

D 1-+v3 @ 5-3V3 ®)0
@ -5- 3 ® 5-3

B

V3-2<0,2-+V3>00]22
1V3-2-12- V3| =-(V3-2) - (2- V3)

-V3+2-2+ 3
0




M —-m ] gk

® -5 ® o0 @ 5 ©)

D -10




30. o& T &A1 o2 A7

© a>02 ], /(a2 =acolth
@ a<0¥49 M, -/(-a)?=a
® a>04<2 9, Vi6a® = 4a ©|t}.
@ Va? = |a| oIt

Oa<0°1'ﬂ1 \/(3a)? = 3a °|th

Da>0<4 ™, /(-a)2=a
@a<08 M, —\/(-a)2 = (-
®@a>0Yd W, Vi6a? = 4a

@ a o] B9t FAGLO] Va2 = a|
®a<0¥ M, /(3a)2 = -




3l. 5% a, b7ta+b<0,ab<0,ld < bE TS, VIa? +
VB2 + /(207 - VAR & 7Vs] SHE7 (ol £ a O A

@ 3a+b @ -5a-b ® —5a+b

®)5a + b ® 5a-b

a>0, b<00|E2

(A1) = 13al + | = bl + | - 2al| - 2b|
=3a-b-+2a+2b
=ba+b




32. {xl300<x<600 xE A5} o tiske] V3x vx 7F o] a7t H =

= St= A5 x o HFE FohH?
D)5 7 @ 5274 ® 10074
@ 10174 ® 301 74

VEx yE = V3x 7 0] A% 1), 3y £ AEL7} Holof sl
o ), x = 3k3(k £ 24A%) o]},
300 < 3k% < 600 & 100 < k2 < 200
k2 =102, 112, 122, 132, 142
x 0] A4 5 7




33. V960 — 32a 7} A7} HE 2 o= AAS o ZoA 7FE 2 S M,
7P AL Fe m o2kl & wf, M - 2m O] FH2?

@1 @ 2 @ 4 @6 ® 8

V960 — 32a = /16(60 — 2a) = 4V60 — 2a

60-2a=0<u, ¢ =

60-2a =364 M, a = FA&
60 60 — 36

M:—: = =
5 30, m 5

M-2m=30-2x12=06

12




